FA-UD03-NLCU

1 | Diffusor 1 |Opal spread PC

2 | M5x10 allen stud screw 2 |stainless steel with black
3 |Front cover 1 | ADC12

4 | o3 foam silicon 1 |foam silicon

5 |LED PCB |

6 |Heatsink part 1 | ADCI2

7 |Red cable wire 1 |10cm 0. 75um* PVC

8 |Black cable wire 1 |10cm 0.75mm* PVC

9 | M3x6 screw 10 |Galvernized iron

10 | driver cover 1 |PC

11 |Blue silicon wire with FBR|1 |10cm 0.75mn? Fiberglass cover
12 | Brown silicon wire with FBR |1 |l0cm 0.75mn* Fiberglass cover
13 |3 poles terminal block 1 | Push connector

14 |Base 1 | PAGE 30%

15 |IP65 grommet 1 |Silicon rubber

16 | M3x12 screw 1 |galvernized iron

17 | M4x6 tooth screw 1 |galvernized iron

18 |earth connect support 1 |galvernized iron

. Name ity Material




